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General instructions :

All the questions are compulsory.

1-Question numbers 1 to 5 are of 1 marks each .

2- Question numbers 6 to 11 are of 2 marks each .

3- Question numbers 12 to17 are of 3 marks each .

4- Question numbers 18 to 20 are of 5 marks each .
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Q.1

Q.2

Q.3

Q.4

Q.5

Q.6

What type of respiration takes place when food breaks down in the absence of Oxygen? 1

S st Tor Y srqufRafa § o e grar &, 91 50 TR FT F7 FEd o7

What is the purpose of partition between the chambers of heart? 1

T & FEAl 6 A1 H (A9 AT A T ST 872

Which vascular tissue is responsible for the transport of water and nutrients in the plants? 1

FI F TG Fash gIT,9T8T FaT F Gl T T 3T ST AT FLd 82

What do you understand by “breathing rate”? 1
“TqF- T AT FAT THA 67

Name the substance which is used to test whether a substance is acidic or basic? 1

FIE Uars AT T AAAT ATCRT THHT T e % forw o {9y % vt #r
ITART 36T STt 2, 9T Fogeltd 22

Latika went to her friend’s house who lives on third floor. She took stairs to reach her
friend’s house. On reaching she was breathing heavily. Why? 2

AT ST FRAT B AR L, ST AT WO ¥ Tl g (@8 SRt g seh aw ugl |
HEeAT o FT TG T ATAHT T | I T 97| 47 ?




Q.7

Q.8

Q.9

Q.10

Q.11

Q.12

Q.13

Q.14

Q15-

What will happen if there were no white blood cells in the blood? 2

FAT 2T 3T Th | 39 = 19t (WBC) 7 2i?

How does asexual reproduction takes place in spirogyra? 2

“TATEINTEXT § AR ST o TR 2ram 87

Kriti switched on an electrical appliance in the kitchen. As she did this, the current went off.
What might have happened? 2

I 7 FFme & R o 7 v R Swweor e | UE Fwd g1 ATee Al TS | FqT g
gTT?

Why is the word “AMBULANCE” written as
AMBULANCE grsz . = = WAL 2 SMA G g oot Ry st &

Write one use each for a concave and convex mirror. 2

A U qAT STA U F Uk Uk ITANT (AT |
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Draw explanatory labeled diagrams to demonstrate the mechanism of breathing in human
beings? 3
“ATHIThG T g AT E 99 it ATty gerrey |

Potato

B
Sugar

_solution__

Transportation of water through cells
Observe the above diagram and write it in an experiment form along with aim, expected
observations and conclusions?
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Do you think an electromagnet can be used for separating plastic bags from a garbage heap?
Explain. 3
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Identify the type of lens from the following and name the lens used as magnifying glass?
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Q.16

Q.17

Q.18

Q.19

Q.20

Give 3 examples each of conductors and insulators? 3

A TR T TR TEQAT A o |

Imran takes 20 mins from his house to reach his friend’s house on a bicycle. If the bicycle has
a speed of 4m/sec. Calculate the distance between his house and his friend’s house. 3
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Three liquids are given to you. One is hydrochloric acid, another is sodium hydroxide and
third is a sugar solution. How will you identity them using only turmeric? 5
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(a) Draw diagrams to show fertilization and zygote formation in plants. 5

(b)Some seeds are dispersed by animals, especially spiny seeds with hooks which get attached

to the bodies of animals and are carried to distant places. Give two examples of seeds which

are dispersed by animals.
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Distance time graph for motion of two vehicles A and B

The above graph shows the distance time graph for the motion of two vehicles A and B
Answer the question below

(i) Which one of them A or B is moving faster?

(if) What happens to A after 50 mins?

(iii) What distance was covered by A after 50 Mins?

(iv) What distance did B cover after 50 mins?

(v) After what time does B cover a distance of 50 KM ?
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(i) A taT B § &I AT AT8A AT TAaT g ?

(i) 50 MIN =T= A =T F3T gamr ?

(i) 50 MIN arg A fraet g3 qr 41 ?

(iv) 50 MIN &g B # faeeft &t aor #1172

(v) fraq arg s § B 750 KM &t 0 a7 #t ?
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Q.1  What are these solutions called which do not change the colour of either red or blue on litmus

test? 1
Ty e, S ATt sraraT e Rrewe oo ¥ 1 Fy afaft a8 w7, F A o?

Q.2 What is the term given to “the number of times a person breathes in a minute”? 1
Frs AR U (e & oot a1 999 #eaT g, 98 Iael FEATH T |

Q.3  What is a type of asexual reproduction in which new plants are produced from roots, stems,

leaves and buds? 1
T TRTE T AT ST, s arey % g a9, o=, qeEr A (S et #1d si g
TAT 9T 9T TR STAT 8, T Fgarar 82




Q.4

Q.5

Q.6

Q.7

Q.8

Q.9

Q.10

Q.11

Which is the correct way of connecting a battery? 1

foreforfRad & 9 Aol SiedY e g9 BT FE) ST HIF—3T 27

{a}
(c)
(d} None of the above
What do we call the change of direction of light by the mirror? 1

T ST T TS ATer STT Y TR T e 347 £ | 3 e v afad T o wgearar 22

What will happen if you dip blue litmus paper in 2
(a) Tamarind water

(b) Soap solution

FAT ZRIT 3T 3T AT forewe 97 ST

() =HeAT F aret F

(b) =T 3 e &

How do earthworms breathe? 2
¥t B T YA e 82

Nidhi did heavy exercise. Due to which she got muscle cramps. What could be the reason? 2
Tfer = samaT ST F u Ut § s g ME? THH FT F ¢ ?

An electrician is carrying out some repair in your house. Your mother gave him rubber
chappals.Why? 2

Fr5 e Rt s =7 3 e ol & 1 7o #7721 2 | TR AT St SH wEE B Aoae
TgA * forg 3t & | 7 2

Write any two uses of concave mirror. 2
FATA TUIT F s &l ITTNT FdTU |

Golu’s grandmother needed spectacles to read, what lens could be fixed in her spectacles? 2
T T ITET HT FLHT T FT GEAT T2AqT 8, ITF F9H F HIF 97 9 T 2




Q.12

Q.13

Q.14

Q.15

Q.16

Q.17

Q.18

Label the diagram 3
Tl s et it AR i |

Human respiratory system

Following are list of items. Segregate them into conductors and insulators
Duster (Wooden), scale (plastic), compass, safety pins, eraser and chappals. 3

ot awgel i garas T Faras | [Aarerg S|
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Draw any 3 stages of reproduction in yeast by budding? 3
ez & qFe GIT ST F 90 STRT W9 P ard |

What would happen if Anna touches a lighted electric bulb? 3
FAT ST 3R "AMT “UF A g0 dod &l €997 FAT 8 ?

Reema placed a burning candle in front of a plane mirror. What characteristics of the image
would she observe? 3

AT A U oAl g€ AHad U qoeer 00 % qrae T | JHeer 00 g7 aw giafaee ¥ srfdrererr
forfem |

A simple pendulum takes 32 sec to complete 20 oscillations. What is the time period of the

pendulum? 3
FTE T AF 20 FAT T DR 32 TS AT £ AIF FT AFS A FAT 22
Read the following paragraph and answers the questions which follow. 5

Kuhuk was playing in the school park and was bit by an ant on her hand. She came running to
her class teacher telling her that her hand is red and swollen due to ant bite. Her teacher
applied lime paste. After a while Kuhuk smiled and told her teacher that she is fine.

A) What substance is secreted by ant bite
B) Why did Kuhuk get relieved from pain?
C) What other substances can be used to neutralize ant bite? Name them.
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Q.20
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Give examples of plant that show to following mode of seeds dispersal 5
A) Wind (any two)

B) Animals (any two)

C) Burst with sudden jerk (anyone)
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Distance time graph for the motion of two vehicles A and B

The figure above shows the distance time graph for the motion of two vehicles A and B.
Answer the questions given below

(i) Which one of them A or B is moving faster?
(if) What is the distance covered by A after 35 mins?
(iii) How much time B took to cover a distance of 12 Km?



T a3 Y e AT § &1 AT, A qer B iy gate g & | o au gel & g d

(i) Asrratr  BH i 9T aree ik faar 872
(ii) 35Min @@ A A fraet X0 A2
(iii) B & 12 km &t T % F7d § a1 &40 Tw01?
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General Instructions:-
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All Questions are compulsory

Q. No. —1-5 carry one mark each.

Q. No. —6-11 carry two marks each.
Q. No.—12-17 carry three marks each.
Q. No. —18-20 carry five marks each.
Write the answers at the given space.
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Bases turns Red Litmus Blue. Ammonia is found in many household products such as window
cleaners. It turns Red Litmus Blue. What is its nature? (1)

AT AT [eHH &l AT T & & | AT T IcATaT o (ISl TF HTA 6 HTSohl TS § FTHAAT
T ST 8| T AT forews 7 AT 2 3d 8 | ST T #4787

Silk fibres are animal fibres. Silk worm spin the silk fibres. The rearing of silk worms for obtaining silk is
called Sericulture.
Out of the following, which term is related to silk production? (1)

(a) Sericulture (b) Apiculture (c) Floriculture (d) None

Yo & (Foreeh)er off “Saa Y 2ra 8 | YW % e L9 °F WIEadl Bl 99T @ | YOH YT Fe o fory
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Q.3 Those lenses which feel thicker in the middle at the edges are Convex lenses. Those which feel thinner
in the middle than at the edges are Concave lenses.
Identify the convex lens in the following figure? (1)
F | ST ATl Y sreAT it ° 7 whT a8, I o gt @ | S R i et i | aaer
WERH B &, AAAA o AT & |
faw o o 7 S w7 Faren F |7 B S o @ gotar 82

Q.4 When an electric current flow through a wire, the wire gets heated. It is the heating effect of electric
current. Electric fuse is a safety device which prevents damage to the electric circuits and possible
fires.
Which safety device is based on the heating effect of Electric Current? (1)
S FohefY a1 & FrE forga omer warfed gl g, af are 9 gl S1aT g | ¥ fored gy &1 ardia gqma
FATdT § | TS qLEAT i<k g ST, Aea aivaer it eafa qom |Sartad T & Tia e 29 F7ar & |
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Q.5 Flowers are the reproductive part of plants. The pistil is the female reproductive part. It consists of

Stigma and Style.
Label the A and B part of the following diagram of pistil. (1)

IO (F) TTET F ST 30T B & | BTFEe Bl T 71T S4 397 gram g | afdesm, 3R afdwr zos
AT 214§ |
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The flowers which contain either only the Pistils or only the stamens are called unisexual flowers, like
corn, papaya and cucumber. The flowers which contain both stamens and pistils are called bisexual
flowers like mustard, rose, petunia.

Complete the following table: - (tick (V) the correct box) (2)
S. No. Name of the plant Unisexual Flower Bisexual Flower
1 Papaya
2 Rose
3 Corn
4 Mustard
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We connect to or more cells together and the positive terminal of one of the cell is connected to the
negative terminal of the other cell. Such a combination of 2 or more cells is called a battery.
The following figure shows 4 cells on a board. Draw lines to indicate how you will connect their

terminals with wires to make a battery of 4 cells. (2)
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Fill in the blanks with the help of terms given in the box (2)

positive, negative, element

(i) Longer line in the symbol for a cell represents, its terminal.
(ii) When current is switched ‘on’ in a room-heater, it’s becomes red hot.

Tt H U T ereai it HaT 7 Rk #=1 AQ AS |
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Look at the following figure of inner and outer side of spoon and complete the sentence with the help

of terms given in the box: - (2)

Inner surface of a spoon acts like a mirror and its outer surface acts like a
mirror.

Concave, Convex

Outer surface

Inner surface of spoon

of spoon

Fr=r fa U = § =0T qTedt oY Al I8 #7 sy o7 gt 7 R T st fi mag | A
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Q.10

Q. 11

There are many steps involved in obtaining of wool. The fleece of the sheep along with a thick layer of
skin is removed from it’s body. This process is called shearing. The sheared skin with hair is thoroughly
washed in tanks to remove grease, dust and dirt. This is called scouring.

Identify the step involved in processing of wool by observing following pictures. Write your answers in

the given boxes: - (2)

e o GETae & AT Ior g9 € | Y2 avAt v =T B adell 9% & q7 o7 F 3a1< forw srar
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In Earthworm, the exchange of gases occurs through the skin. In Fish, it takes place through gills and
in Cockroach through trachea. Though frogs have a pair of lungs like human beings, they can also

breathe through their skin. (2)

Match the following :-

COLUMN 1 COLUMN 2
(i) Fish Lungs & Skin
(ii) Earthworm Trachea
(iii) Cockroach Skin
(iv) Frog Gills

FAU T FT AGTTHA =T FIT 21T 5 | Fgfordt § Fra (Fer) gy o Ftwdra § v 1 gy
YJHE AT 8 | oAfehe Hew § aqeT & AT Fhe gid & aaTd, I STa= 1 @=1 7 o a9 Fd & |
3 =7 T ffem |
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(ii) Fa e Y
(i) FHLT =T

(iv) Ha® Fr ()



Q.12

Q.13

Q.14

The female silk moth lays eggs, from which hatches a Larvae which are called Caterpillars. Soon the
caterpillar completely covers itself by Silk Fibres and turns into a Pupa. This covering is known as
Cocoon. The further development of Pupa turning into a Moth continues inside the cocoon. These Silk
Fibres are used for weaving silk cloth.

Fill the different stages of Silk moth in its life-cycle in the given diagram and write them in the space
given below: - (3)

HTET Y9 #ile 3 IdT § o amat Maad 8, ST eIy Figard §, Soal af fediday ag &l T
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Yak wool is commonly used in Ladakh. Angora wool is obtained from Angora goats found in hilly
regions of Jammu and Kashmir. The fur on the body of Camel is also used as wool.
The following animals belong to which part of the country.

Match the following: - (3)
COLUMN 1 COLUMN 2

(i) Yak Rajasthan

(ii) Camel Ladakh

(iii) Angora Goat Jammu & Kashmir

T T T fdeaq § T=ToId & | ST e &l ST T8 it ahFT & Y76 631 [rar g, S 6] -
FOHTT o TETET &A1 H qrft ATt 8 | 2 F o o areAl T START AT S F ®T § A qrar g | |+

U T STew o F e RE a Hataa g |
51 =1 e it |
|1 T 2
(i) RIED TSTEATT
(i) &= RElcl
(iii) 3TIRT Fr SIF HHR
Complete the following reactions with the help of terms given in the box:- (3)

Lactic Acid, Carbon dioxide

with the use of oxygen

(i) Glucose + Water + Energy

(ii) Glucose
(In muscle)

in the absence of oxygen

+ Water + Energy




Q.15

Q.16

Fie # 3w Ty ersat i waw & /= & o st i g fie
AT A, FTaT STLATFATES
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(ii) T aﬁéﬁmaﬁwﬁqﬁi + ST+ ol

The main parts of The Human Respiratory System are Trachea, Lungs, Nasal Cavity, Rib Cage and
Diaphragm. From the Nasal Cavity, the air reaches to our Lungs through the wind pipe. Lungs are
present in the Chest Cavity. This cavity is protected by the Rib Cage. A large muscular sheet is called
Diaphragm, preventing our lungs to fall down.

In the following diagram, label the Diaphragm, Ribs & Lungs: - (3)

ATH ToAT, Fhe, ATENET, THCET ST STATRIT A9 6T aF & §&d AN 8 | 7197 [&T § a1, 419
T T T GHTE FRET § SATAT & | Fhe a87 [T | Bora gra & | e ey waforat ¥ oy wdr g | v
FET AT T ST STATHIT FZeATdAT
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Name the following electrical components having the following symbols with the help of the given
terms in the box :- (3)

Bulbs, Cell, Switch is in OFF position
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Q.17

Q.18

Q.19

Mark “T” if the statement is true and “F” if statement is false :- (3)

(i) Lemon juice turn red litmus blue.
(ii) Tooth decay is caused by the presence of a base.
(iii) Soap solution turns blue litmus red.

Fr=r faw 1w Fore 7fs @ 0 & ar (T) sreran Torq & ar (F) forfe -
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There are many acids which we use in our daily life. All the Citrus fruits like Lemon contain Citric Acid.
Lactic Acid is found in Curd and Oxalic Acid is found in leafy vegetables like Spinach. Vinegar which is
used in preparation of foods like Chowmein, contains Acetic Acid. When an ant bites it injects Formic

Acid into the skin.

Match the following columns :-

(5)

Name of acid Found in
(i) Acetic Acid Curd
(ii) Citric Acid Spinach
(iii) Lactic Acid Ant’s Sting
(iv) Formic Acid Lemon
(v) Oxalic Acid Vinegar

T 2" w1 S A1 § ATSfeF o a1 8 | Tl | dATded oIvd 3T TaTe gesil S8 91 |
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TS AT ATH STEt 910 A1 &
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(ii) oo et EIEER
(iii) ClECE ) A FTIH
(v) i e f7
(v) ARt IFT et

The transfer of pollen from Anther to Stigma of a flower is called pollination. If the pollen lands on a
stigma of the same flower it is called Self Pollination. When the pollen falls on the stigma of another

flower, it is called cross pollination. (5)

(i) Label the A,B & C part in Fig. X with the help of terms given in the box :-

Petals, Sepals, Pollen grains




(1m Write down the type of pollination in the given space

<+ \
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Q.20 A convex lens converges (bends inwards) the light generally falling on it is called converging lens. On

—

IEER

the other hand, a concave lens diverges bends the light and is called diverging lens.  (5)

Answer the following questions by observing the following figures: -

®)

(i) Name the type of lensin Fig.a & b
(ii) Complete the statement with the help of the following terms given in the box

Converging, Outward, Inward

In Fig. a light falling on the lens is bending and this lens is called
In Fig. b light falling on lens is bending ___ .
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